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Olivia buys three packets of nuts.

She pays with a £2 coin.

This is her change.

Show

your
method

2019 Organiser Out Now... All-New Arithmetic Ninjas, Paired Domino ~
Activities, Self-Marking Papers, One Page Wonders and new Tutorial =
videos for last Summer’s SATs. Try it free press here!



https://www.tes.com/teaching-resource/2019-ks2-sats-revision-ultimate-15-in-1-maths-organiser-11989842
https://drive.google.com/open?id=1DQSgTL_ByD_-Lo1AR-d41QPzAGHkzbAZ
https://www.youtube.com/watch?v=qmreAb8eTbs

2013A KS2 Q9 %

Here are some sentences about an amount of money

Mark each sentence with a tick (/) if it is correct.
Put a cross (x) if it is not correct.

One has been done for you.

£1.03 can be made with exactly 1 coin. X

£1.03 can be made with exactly 2 coins.

£1.03 can be made with exactly 3 coins.

£1.03 can be made with exactly 4 coins.

COINS

Help Code : 019

BOOSUER

Dev has five coins.
He has £1.60 altogether.
Write what the five coins could be.

2003A KS2 Q8

Each of these bags contains £1.60

Each bag contains only one type of coin.

Complete this table to show how many coins are in
each bag.

One has been done for you.

\ Type of coin Number of coins
1p 160
10p

20p

N\
2001A KS2 Q7

Lewis makes a call from
a telephone box.

He has £2 in coins.

He uses these five coins to make the call.

How much money has he got left from the £2?



https://www.youtube.com/watch?v=mJYbvKUXFj0&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=19
https://www.youtube.com/watch?v=3XwNwnPjmKQ&index=19&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu
https://www.youtube.com/watch?v=UjicTlSWKr4&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=22
https://www.youtube.com/watch?v=sQR-h3tt3-Q&index=17&list=PLS3PH82bo0VBN5y6ePJy8_v0zw611HJsJ

